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CSS
M.Com. GLOBAL BUSINESS OPERATIONS

General Instructions

1. The Question Paper is having two Parts — Part ‘A’ Objective type (60%) & Part ‘B’
Descriptive type (40%).

2.  Objective type questions which carry 1 mark each are to be (v) ‘tick marked’ in the
response sheets against the appropriate answers provided.

3. 8 questions are to be answered out of 12 questions carrying 5 marks each in Part ‘B’.
Negative marking : 0.25 marks will be deducted for each wrong answer
in Part ‘A’

Time : 2 Hours Max. Marks : 100

To be filled in by the Candidate

Register | in Figures
Number

in words

PART — A
(Objective Type)

Choose appropriate answer from the options in the questions. One mark each.
(60 x 1 = 60 marks)

1. In the following series select the missing value of the 5 alternatives given below
4,711,166 (——)

a) 18 b) 20
c) 22 d) 25



2. Select the only one wrong term in the series form the given alternatives:
7,28, 63, 124, 215, 342, 511
a) 7 b) 28
c) 63 d) 215

3. InABC, EFG, UK, OPQ, ?? The term in place of*??” is
a) STU b) UVW
c) Tuv d) VWX
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10.

11.

Complete the series

1,3,7,13,21,2
a) 27 b) 29
c) 31 d) 33

In a code language, SIKKIM is written as THLJJL. How is TRAINING written in
that language?

a) SQBHOHOH b) UQBHOHOF
c) UQBJOHHO d) UQBJOHOH

A introduces B saying, “He is the husband of the grand daughter of the father of
my father.” How is B related to A?

a) Brother b) Son

c) Brother-in-law d) Newphew

This project will be finished two years

a) About b) In

c) Within d) By

An employment advertisement should the number of vacancies
a) Provide b) Specify

c) Contain d) Declare

Synonym of Fragile
a) Valid b) Delicate
c) Frank d) Incapable

The sum of first four prime number is

a) 14 b) I5

c) 17 d) 19

76% of the students in a school are boys. If the number of girls is 204, then the
total number of students is

a) 760 b) 800

c) 850 d) 900

3 L — 4041



12.

13.

14,

15.

16.

17.

18.

10% of 15 kg is equal to x% of 12.5 kg. The value of x will be

a)
c)

12 b)
15 d)

12.5
10

The average of even numbers from 1 to 20 is

a) 12 b) 11

c) 10 d) 110

Kerala is largest state by population.

a) Tenth b) Eleventh

c) Thirteenth d) Seventeenth

Technopark, the largest Information Technology Park in Asia in terms of area, is

situated in
a) Palakkad b)
c) Cochin d)

What is Sukrutham?

a)

c)

Free Education Program b)

Free Housing Program d)

World’s Only Teak Museum is in

a)

c)

Manjeri b)
Nilambur d)

partnership (PPP) model.

a)

c)

Cochin International Airport b)

Trivandrum International Airport  d)

Trivandrum

Malappuram

Free Cancer Treatment Program

Free Vaccination Program

Trivandrum
Kozhikode

Calicut International Airport

None of the above

is the first airport in India developed under a public-private
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19.

20.

21.

22.

23.

24.

25.

To regulate the securities market and to protect the investor’s interest
has been created by the Government of India.

a) SEBI b) RRB

c) RBI d) SBI

The Nehru Trophy Boat Race is a held in Lake.
a) Punnamada b) Vembanad

c) Ashtamudi d) Kayamakulam

Vaikom Muhammad Basheer is fondly remembered as the

a) Palakkad Sultan b) Malapuram Sultan
c) Beypore Sultan d) Wayanadu Sultan
Kerala Formation day

a) Dec9" b) Oct 1%

c) Nov 1 d) Sep2™

Which of the following currencies is not included in the Special Drawing Rights
(SDR) Currency Basket?

a) Indian Rupee b) British Pound

c) Japanese yen d) Chinese Renminbi

A Bank included in the second schedule of RBI is called as ?
a) Scheduled Bank b) Commercial Bank

c) National Bank d) Regional Rural Bank

From time to time, which among the following organizations releases “The Global
Enabling Trade Report™?

a) World Bank b) World Trade Organisation

c) World Economic Forum d) UNCTAD
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26.

27.

28.

29.

30.

31.

32.

Which among the following is the top seafood exporting port of India in terms of
dollar value?

a) Visakhapatnam b)  Tuticorin
c) Kochi d) Mangalore

The Financial Action Task Force (FATF) is an initiative of
a) SAARC b) IMF
c) BRICS d) G7 countries

Which among the following is an instrument of Liquid Adjustment facility?

1) Repo Rate 2) Reverse Repo Rate
3) MCLR 4) SDR

Choose the correct option from the choices given below:

a) 1,23and4 b) 1and2only

c) 3and4only d) 1and3only

What is the new name of NH7?
a) NH34 b) NH45
c) NH44 d) NH30

Which among the following is known as “Sweet gas™?
a) Nitrogen b) Hydrogen Sulphide
c) Coalbed gas d) Laughing gas

International trade and domestic trade differ because of
a) Different government policies b) Immobility of factors
c) Trade restrictions d) All of the above

Market in which currencies buy and sell and their prices settle on is called the
a) International bond market b) International capital market
c) Foreign exchange market d) Eurocurrency market
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33.

34.

35.

36.

37.

38.

39.

If Japan and Pakistan start free trade, difference in wages in two countries will
a) Increase b) Decrease
c) No effect d) Double

Foreign trade creates among countries
a) Conflicts b) Cooperation
c) Hatred d) Both (a)and (b)

Net exports equal
a) Exports x Imports b) Exports + Imports
c) Exports - Imports d) Exports of services only

Dumping refers to

a) Buying goods at low prices abroad and selling at higher prices locally

b) Expensive goods selling for low prices

c) Reducing tariffs

d) Sale of goods abroad at low a price, below their cost and price in home

market

Which one of the following countries has the highest percentage of the services
sector in the GDP of the country?

a) France b) Spain
c) United States d) United Kingdom

Which of these global economic organisations was created at the 1944 Bretton
Woods Conference?

a) The International Monetary Fund (IMF)

) The World Trade Organization (WTO)

)  The International Trade Organization (ITO)
)

o O T

The Organization for Economic Cooperation and Development (OECD)

Special drawing rights (SDRs) relate to
a) World Bank b) Reserve Bank of India
c) World Trade Organization d) International Monetary Fund
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40.

41.

42.

43.

44.

45.

46.

47.

TRIPS (Trade Related Aspects of Intellectual Property Rights) agreement is
administered by

a) UNCTD b) WTO
c) World Bank d) UNO

The headquarters of IMF is situated in
a) Washington b) England
c) New York d) Tokyo

World Trade Organisation is the new name of
a) IFC b) IMF
c) GATT d) World Bank

India is not a member of which of the following?
a) SAARC b) WTO
c) SAFTA d) CIS

World Investment Report is published by which of the following?
a) WEF b) WTO
c) GATT d) UNCTAD

A common currency for the members of the Common Market in Europe is known
as

a) Dollar b) France

c) INR d) Eurodollar

Which one of the following countries is the first borrower of fund from the
International Monetary Fund?

a) United States b) Spain

c) France d) India

The main watch dog of international trade is
a) World Bank b) IFC
c) IMF d) WTO
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48.

49.

50.

51.

52.

53.

o4.

Which one of the following institutions is related with the Green /Blue Box
subsidies?

a) World Tourism Organisation b) World Trade Organisation
c) World Bank d) UNO

Which of the following types of borrowings from the IMF has the softest servicing
conditions

a) SAF b)  Oil facility
c) Second Tranche Loan d) ESAF

The standard of living in a country is
a) Per capital Income b) Poverty ratio
c) unemployment rate d) National Income

The number of observations are 30 and the value of arithmetic mean is 15, then
sum of all value is

a) 15 b) 450
c) 200 d) 45

In arithmetic mean, the sum of deviations of all the recorded observations must
always be

a) two b) minus one
c) one d) zero

The matrix having same number of columns and rows is classified as
a) triangle matrix b) square matrix
c) rectangle matrix d) circle matrix

The cluster sampling, stratified sampling and systematic sampling are types of
a) Direct sampling b) Indirect Sampling
c) Random Sampling d) Non-random Sampling
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55.

56.

57.

58.

59.

60.

If the class mid points in a frequency distribution of age of a group of persons are
25, 32, 39,46, 53 and 60. The size of class interval is

a) 5 b) 7

c) 8 d) 6

The median of a frequency distribution is found graphically with the help of
a) Histogram b) Frequency curve

c) Frequency polygon d) Ogive

The mode of a frequency distribution can be determined graphically by

a) Histogram b) Frequency curve
c) Frequency polygon d) Ogive
is an ideal index number
a) Lasperye’ s Index b) Fisher’s Index
c) Paasche’s Index d) Bowley Index
The price of any currency in international market is decided by the

1. World Bank

2. Demand for goods/services provided by the country concerned
3. Stability of the government of the concerned country

4. Economic potential of the country in question

Which of the statements given above are correct?

a) 1,2,3and4

b) 2 and 3 only
c) 3and4only
d) 1and4only

Priority Sector Lending by banks in India constitutes the lending to
a) Agriculture

b) Micro and small enterprises
c) Weaker sections
d) All of the above
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ANSWER SHEET — PART - A
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10.

11.

12.

GLOBAL BUSINESS OPERATIONS

PART - B
(Descriptive Type)

Answer any eight questions. (8 x 5 =40 Marks)
What is internal trade? Distinguish it from international trade.
Critically analyse the impact of globalisation in India.

Discuss the impact of Covid-19 pandemic on the Tourism and Hospitality
industry.

“‘“MSMEs sector is referred to as the growth engine of the Indian economy”. In
light of this statement discuss the challenges and solution pertaining to the Micro
Small and Medium Enterprises sector in India.

The Union Budget 2021 has proposed setting up of a National bad bank to
restore bank’s health. Critically analyse this idea.

Describe the trade associations in India.

Elaborate Intellectual Property Rights.

Is India ready to become a cashless economy? Explain.
How do you describe your career plan?

How digitalization has affected the Global banking sector?
Explain the features of Arithmetic mean, median and mode.

Discuss the merits and demerits of online mode study of M.Com. Course.
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